1. Complete the following table.

Ni Ca Br
# of E levels occupied? bi Lt
# of protons? 2.8’ 7.0 66
Which has stronger attraction? Ni or Ca or
Which has the smaller atomic radius? Ni or Ca or BL

AN
Which has higher ionization energy? Ni or Ca or
Which has higher electronegativity? Ni or Ca or Br/
—

2. ldentify whether an ionic bond, polar covalent bond, nonpolar covalent bond, or no bond forms with

each combination of elements below. M@ Qab )\
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Nonpolar codaiont bosnd = Non Fgn AEN <Q

Mot + ettt = N Bond
Nitbole A4S = N Bond



